Solution

Math Olympiad (Class gth

Total Marks: 35 2022-23 Time: 1 Hour
Name: Father’s Name:

School Name: District:

Class: Section:

Student ID: Class Roll No.:

5<: I YFS § faneyded ufan A= 199a YA 1 Wik & J1 J9a YHs © 837 &t 919 ey I6 filg
&9 d=® f¥x dla I 1At feasu vidl At (V') T fors g |

Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each question out
of which only one is correct. Put a tick ( v ) mark on the correct option.

Ql: It id3 gEat § uR:

FES | : AYIs A geT € w3993 ge gemit Ia|
FES || : FYIS AfMIe 3191 @ WIS ST gemi Ial
Read the following statements carefully:

Statement I: Integers are closed under multiplication.
Statement II: Integers are closed under division.

(a) fAge 98 | AT I Only statement | is true.
(b) fHIE E& 1| A 3l Only statement Il is true.
(c) ©F J8& HIT IS/ Both statements are true.
(d) T2 I8E Al &df ISI/None of the statement is true.
Q2) Faow e e witggue R ue &t faiedt sg 3= g3
A quadratic polynomial in one variable has at most _______terms.

(@1 (b) 2 ()3 (d) 4
Q3) Iz &3 I mitggst &9 far milegs T Jfe x-gd T AHET I?

Which of the following linear equations has its graph parallel to x-axis ?
a) x+y=1 b) y = 0.2x c)y=2 d) 2x+1=0

Q4) i&3 I2 fF39 €T AB|ICD W3 BC|[ED 3 3 x T HS U3™ a3
In the given figure, If AB||CD and BC||ED then find the value of x.
a) 60° b) 75° c) 105° d) 90°
Q5) 8 nirfes & FaEt (5a-4) feargit 3 ¥39e® 25a’-35a+12 <9d1 feareit J1fer nifes &t g3t
J=4tt:
Length of a rectangle is (5a-4) units and area is 25a°-35a+12 square units. Find its breadth.
a) (5a+4) units b) (5a-4) units c) (5a-3) units d) (5a+3) units
Q6) JecEITI= aT:  Factorize: X>+y-Xy-X
a) (x+y)(x-1) b) (x-y) (x-1) c)) (x-y)(y-1) d) (x-y) (y+1)
Q7) I fordintt f&5° faast ffa ggu= adt I? Which of the following is not a polynomial?
a) 6~ 7xt3 b V5272 ¢ Zr-If-=  d)VEx+ 3~ 1
Q8) I=t 35 Aftmret @ 743 9 I, feust Aftmre @ T9d1 T 73 29 i3 feast Aftmiet @ wat @7 d3 99
J I fegst Aftmret @ Je6e® UsT I9 |
If the sum of three numbers be 9, the sum of their squares be 29 and the sum of their cubes be 99, then find

the product of the numbers.
a) 72 b) 56 c) 48 d) 24
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Q9) 73 m=a+b\/3 Je 3t an3 b T HG USTII|
If%:a+b\/3 then find the values of a and b.

a) a=7, b=4 b) a=—7, b=4 c)a=7,b=-4 da=—-7,b=-4

Q10) & §a1 &9 4 &® w3 IT IIit dret I 1397 e nigex f¥x dre fig 7 ‘3 8% It dare yus JT
€ Agesr fEa & diT YUz IT & Agesr 3 nfdt J1 g1 &9 gdhrt dret &t Aftmr U3t 59|
There are 4 red balls and some green balls in a bag. On taking out a ball at random from this bag, probability of

getting a green ball is half the probability of getting a red ball. Find the total number of green balls in the bag.
(@ 2 b) 3 c)4 d) None of these

Q11) fEx w=t 3 fem 37t Sfemrm famr T fx Tfigg 12 =0 feret fHic @ Bet €39- yIw < femar o<t
JI1ER 3 gfugs 1:30 =0 fer w3t &t e =@ 7t fan forr <& femar qIqtt?
A clock is so placed that at 12 noon its minute hand points towards north-east. In which direction does its
hour hand point at 1.30 pm?
(a) 833 /North b) Uugs/ East  c) €uT- yJg/ South-East  d) €dE /South

Ql12) € AHT3IgH ¢ fedast @ wigums 8:15 I ferer uformy 34 AW J1 &R @7 839e® U3 o9 |
Ratio of diagonals of a rhombus is 8:15 and its perimeter is 34 cm. Find its area.
a) 120 sq cm/ 120 JdT AH b) 60 sqg cm/ 60 IJdT AH
c) 180 sq cm/ 180 FJdT AH d) 180v3 sq cm/ 180vV3 IJdT AH

Q13) &3 g2 939 RS9 x @ H® u3T &9 |
Find the value of X in the given figure. A L
a) 75° b)20° ¢)95° d)105° P

Q14) fe3 a2 fg39 9, DE || BC 13 MF || AB J1LAEM T H& UST I |
In the given figure, DE || BC and MF || AB. Find the value of ZAEM.
a) 50° b)40® «¢)©0° d)130°

e

Ql5) oA 959 © Jeg »i3 feret Hier ¥ Hu g § He8e =&t gur aHmT
The line joining the centre of a circle to the midpoint of a chord is always
a) #ier ¥ AHT3T It J1/parallel to the chord.
b) wteT ‘3 BF Jet J 1/ perpendicular to the chord.
¢) #ier € g9tgg Jet J1/equal to the chord.
d) ier 3 3T I T 1/ Greater than the chord.

Q16) 7d Afenf@t 2,5, x, 8, x+4 V3 5 €T HUH™S 5 J< 3T & x H® U3™ d
If mean of numbers 2, 5, x, 8, x+4 and 5 is 5 then find the value of x.
a)2 b)3 )4 d)5

Q17) A fox g9 © ferA feg 10% < it wigel I 37 939e8 feg & yIims sndt nieair

If the diameter of a circle is decreased by 10% then How much percentage decrease in area will be there?

(a) 19% (b) 20% (c) 21% (d) 10% A
A
Q18) f&3 g fd39 9 LABC T H& U™ IJ |
In the given figure, find the value of ZABC. 7o S N6 em g emfox s
a) 45° Db)80° <¢)60°  d)90°
3x 60°
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Q19) i werarg saR, farer faerar 2.5 1. 3, § 2 g. Y3t =991 Hi. &8 391 536 T HIg =T
Find the cost of painting a cubical box of edge 2.5 m at the rate Rs. 2 per square meter.
(a) 37.59. (b) 259. (c)50d. (d) 75 9.
Q20) @ fenaShi X w3y § SIS IH 7.5% T ©I &8 AUSS fanH 3 T 4 A W3 5 H'S 88 U9
&3t a1l | Asg QI T B3 9 ATrgs fenrt &g wizg 150 guR I 3t Qs &9 I3 § it
I I U3 S|
Equal sums of money are lent to X and Y at simple interest at 7.5% per annum for a period of 4 years and
5 years respectively. If the difference in interest paid by them Rs. 150, the sum lent to each was:
a) Rs.500 b) Rs.100 c) Rs. 2000 d) Rs. 300
Q21) &3 Iz 939 <8 ABCD & Jadt 939gA J fAn <8 AB @ F 3 Turfens
fami™ I »13 BE || DC T | H&I 2FBE = 20° W3 £DAB = 95° J 3T LADC U3T JJ |
In figure, ABCD is a cyclic quadrilateral in which AB is extended to F and BE | | DC.

If £FBE = 20° and £DAB = 95°, then find ZADC.
a) 95° b) 85° c) 75° d) 105°
Q22) fEa nrfesag U3 &t Saet feret g37et 3 56 g7 J1739 fenet Saet § 3 H. wer fidzr A= »i3
feret ga3et § 3 . =ur fiosT A 3t feg € =991 3T AfeT J1 u3 Ehrf fenet usT 39|
A rectangular field is three times as long as it is wide. If its length was 3 m shorter and 3 m wider it would be
a square. What are the dimensions of the rectangular field?
(a) 9m x 3m (b) 6Bm x 2m (c) 18 mx 6m (d) 10m x 4m
Q23) I5 &3t Aast g3 fefonrggnt T fefomrs fem & W= it 58 yus a3 »ig ©9rr 94t J 1799
fefenragn™ @ iR NI 2V, I 3T x &7 HE UST &9 |
The marks scored by some students in the Science test are shown in the table below. If the mean marks
obtained by students is 2 % then find the value of x.

g/ Marks 0 |1 2 3 14 |5
fefentagntt €t fare3t/ Number of students 3 |2 3 5 |x |1
a) 2 b) 3 c)4 d)5

Q24) & U3T J9: Find the value of:
3 -1 -1
(97 x ()7 x (55)7
a) 324 b) 315 c) 320 d)310
Q25) I3 »igt TH fET Aftm T nidt @7 Eae® 75 J1IfER Aftnr @ wigh €@ 93e® u3T 9|
Product of digits of a four-digit number is 75 . Find the sum of its digits.
a) 10 b) 14 )16 d)U3T &JI 3T AT AL/ can not be determined
Q26) B mHgr 337 & ¥U39e® 100 v3 AH’ I, ferer uformy usT a9 |
Area of an equilateral triangle is 100 V3 cm”. Find its perimeter.
(a) 20 cm (b) 72 cm (c) 54 cm (d) 60 cm
Q27) 8 (3gAard 993 © a9 5 AH, 12 A W3 13 AH 8 I6I feA 998 § 75 M S T AH & &9 &8

e J9& T °Hag U3™ I3l

The edges of a triangular board are 5 cm, 12 cm and 13 cm. The cost of painting it at the rate of 75 paise per cm?’ s :
(a) Rs 22.00 (b) Rs 22.25 (c) Rs 2.25 (d) Rs 22.50

Q28) AT itz € I3 Yue © ¥E § 5 =0 i3 /e 3 feAT” HoH's .
If each observation of the data is increased by 5, then their mean

(a) Bt IITT remains the same

(b) US HOH'S €7 5 Jre7 J A=4dT/becomes 5 times the original mean)
(c) Y& HoHs 3 5 We I A=4T / (is decreased by 5)

(d) HS® HoHs 3 5 0 J H=AT (is increased by 5)


bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight

bhinder singh
Highlight


Q. 29) fea AT <5 fomar aafent foa fona3t wruE 2r3 § afder 3, “Gu W3 fuzr @ <3 o &t ush
Pointing to a photograph, a person tells to his friend, “she is the granddaughter of the elder brother of my

father”, how is the girl in the photograph related to the man?

a) Niece (33t b) Sister () c) Aunt (I5t) d) Maternal Aunt (H)

Q. 30) fex uR ¥ € wida-nidar fgn J5 TIAE nigA T51 5 faent @ ° . 3
Two positions of a dice has been shown below. How many dots will be appear :': . e |°

just opposite to 5 dots?

a) 4 b) 2 c) 6 d 1

Q. 31) &3 I fF33 <5 69 39 T famer fio39 (X) B 391 3:

Choose the figure which contains figure (X) as its part.

(X) @) (b) () (d)

Q.32) &3t B3 &9 I3 Afemir GEFind the wrong number in the series:

1,2,3,7,15, 24,51, 67, 131, 167, 281
a) 167 b) 131 c).281 d) 3
Q. 33) i3 I fI39 &9 fix ugegnt e (x) fZT g f3afes w3 fix Tova ods &5 fousd I8 31396

fednit 139 faazr fd3g fer die (x) § for wrded 88l 3 He 3 Yu3 wigst § Tan foar

Find out from amongst the four alternatives as to how the pattern would appear when the transparent
sheet (X) is folded at the dotted line.

...................................

(X) @) (b) (c) (d)
Q. 34) If 30*" January,2003 was Thursday, what was the day on 2" March, 2003?
30 AG<d! 2003 § A< A, 2 1T 2003 & faaz fes I

a) HI®=g (Tuesday) b) {l9<™d (Thursday)
c) A& (Saturday) d) w329 (Sunday)

Q. 35) A faR uA 37 A3 feT 943 § BED W3 12448 § SWEET AT 13" Afer J1 492311 § ot A 3™ A=ar?

If in a certain language 943 is coded as BED and 12448 is coded as SWEET. How is 492311 coded in that languages?

a) EDSWBS b) TSWBDD c) DSWTEE d) EBWDSS
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